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Work Sheet.No.1

1 Kerala has a low Infant Mortality Rate. What could be the reason?

A. Because all the girls are trained at the primary level of schooling to look after a newborn
child.

B. Because most of the girls are nurses in Kerala.

C. Because Kerala has very high female literacy rate and adequate health facilities are
available for both mothers and children.

D. Kerala’s good climatic condition helps infants to survive.

2 What would be the most promising source of energy fifty years from now and why?

Petroleum energy, because it is obtained from fossil fuels.

Forest product-based energy, because India has abundant forests.
Coal based energy, because it is pollution- free.

D. Solar energy, because it is not exhaustible.
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3 Money cannot buy all the goods and services that we may need to have a good life. A list of things
required for a good life is given below. Which among the following are things money cannot buy?
(i) Full protection from infectious diseases
(i) High quality education
(iii) A luxury home
(iv) A pollution-free atmosphere in every part of the country
Options: -
A. (i) and(ii)
B. (ii) and (iii)
C. (i), (ii) and (iii)
D. (i) and (iv)

4 Choose the correct statement.

A. Different persons can have same developmental goals and what may be development for
one may not be development for the other.

B. Different persons can have different developmental goals and what may be
development for one may not be development for the other.

C. Different persons can have same developmental goals and what may be development for
one may be development for the other.

D. Different persons can have different developmental goals and what may be development
for one may be development for the other.
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If there are five persons in a family and their total income is Rs.20,000/- what would be the
average income of each person?

Rs. 6000/-
Rs. 4000/-
Rs. 5000/-
Rs. 10,000/-
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If women are engaged in paid work, what difference does it make?

their dignity in the household and society increases
Household work of women decreases.

Income of the family is reduced.

D. Their dignity in the household and society decreases
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Read the given data and find out which country has the most equitable distribution of income.
Monthly income of five families in country A and country B.

I 1 1] v Vv
Country A 9500 9600 10000 10400 10500
Country B 3000 2000 5000 4000 36000
Options: -
A. Country A
B. Country B

C. Country Aand B
D. None of these

In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option:

Assertion (A): Non-renewable resources are those which will get exhausted after years of use.
Reason (R): Kerala has a low Infant Mortality Rate because it has adequate provision of basic
health and educational facilities.

Options: -
A. Both A and R are true and R is the correct explanation of A.
B. Both A and R are true but R is not the correct explanation of A.
C. Aistrue butRis false.
D. Ais false but R is true.

Study the data and answer the following question.

Some comparative data on Haryana, Kerala and Bihar (2018-19)

State IMR per 1000 live | Literacy Rate Net Attendance Ratio (per 100
births persons) secondary stage (age 14
and 15 years).
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
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Based on the data given above, identify the most developed state.

A. Bihar
B. Kerala
C. Haryana

D. Kerala and Haryana.

10 Based on the conflicting developmental goals, which of the following pairs are not correctly
matched?
A. More wages to workers - against the interests of the entrepreneur.
B. Rich farmers want to sell food grains at high prices - poor workers want to purchase it at
low prices.
C. Construction of a dam means more and cheaper power for people - The tribal do not want
to leave the place.
D. Expansion of roads in the city - good for reducing traffic congestion.
11 Fill in the blank: -
CATEGORY OF PERSONS DEVELOPMENTAL GOALS
a. Rich farmer with large land holdings Assured higher support price for their crops.
b. A rural woman from a land-owning family ?
Options: -
A. A regular job and a high income.
B. To get a good and proper education for her children.
C. Improve irrigational facilities for her farm.
D. All of the above.
12 The main limitation of average income to be used as a measure of development is
A. It cannot be calculated correctly.
B. It does not address environmental issues.
C. It does not consider equitable distribution of income.
D. ltis alengthy process.
13 In the question given below, there are two statements marked as Assertion (A) and Reason (R).

Read the statements and choose the correct option:
Assertion (A): Money in your pocket cannot buy all the goods and services that you may need to
live well.
Reason (R): So, income by itself is not a completely adequate indicator of material goods and
services that citizens are able to use.
Options: -

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.

C. Aistrue butRis false.

D. Ais false but R is true.
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14 Read the extract given below and answer the questions that follow:
Besides seeking more income, one way or the other, people also seek things like equal treatment,
freedom, security, and respect for others. They resent discrimination. All of these are important
goals. In fact, in some cases, these may be more important than more income or more
consumption because material goods are not all that you need to live. Money, or material things
that one can buy with it, is one factor on which our life depends. But the quality of our life also
depends on non-material things. Consider an example: If you get a job in a far-off place, before
accepting it you would try to consider many factors, apart from income, such as facilities for your
family, working atmosphere, or opportunity to learn. In another case, a job may give you less pay
but may offer regular employment that enhances your sense of security. Another job, however,
may offer high pay but no job security and also leave no time for your family. This will reduce your
sense of security and freedom.
Answer the following by choosing the most appropriate option: -

1. Gaurav currently residing in Surat applied for a job in an educational institution, located in
Delhi. He got selected in an interview. The company offered him a handsome salary.
However, Gaurav is confused. Apart from salary, what other goals should he keep in mind
while taking up a new job?

A. Opportunity to learn

B. Working atmosphere

C. Job security

D. All of the above

2. The approach of living a life in bungalows, with costly cars, bikes and latest models of
gadgets is life.

A. Materialistic

B. Social

C. Boasted

D. Bothaandc

3. “Women, who are engaged in paid jobs are an example of persons who fulfil a mix of
goals.” Which of the following statements is incorrect with the given statement?

A. A secure environment may allow more women to take up a variety of jobs or run a
business.

B. If thereis respect for women, there would be greater acceptance of women working
outside.

C. If women are engaged in paid work, their dignity in the household and society
decreases.

D. All are correct

4. “Besides seeking more income, people also seek things like equal treatment, freedom,
security and respect of others”. What does the given statement signify?

A. Mixed goals are important for people for development.

B. Common goals are important for people for development.

C. Conflicting goals are important for people for development.

D. Similar goals are important for people for development.
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